
% 3

3

œ

∗

Œ

Œ

œ

∗

œ

œ

œ

−˙

3

senza vib.

ο

q = ca. 72, etwas frei im Tempo

poco sul pont.

ε

ο

œ

� �

œ

+

−˙

Ê

Œ

” Œ

œ

∗

Áο

œm œn Œ
œ

∗

pizz.
sul D

sulAgliss.

%

5
œ

œ

œm
œ

œ

œ

œ œ

œ

œ œ

œ

œ œ

œ

œ
œ

œ

œ

3 3 3 3 3

arco
(poco sul pont.)

” Œ
œ

∗

sulA

ο

−
˙

≤

œ

ϖ

arco

−˙

Ê

œ

,

Áο

Áο

%

9 Ν

œ

mm Ν

œ

− −

− −

Ν

œ

Θ

Ν

œ

b Ν

œ

ord.
−

−

Ν

œn Ν

œ

b
‰

ι

œ

Ê

ν

Ê̇

”
− œ

∗

sul pont.

Áο

fl

œ
œm
œ

œ
œ

œ œm œm œ
œ
œ œm ‰

Ι

œ

Œ

6
6

π

pizz.

%

12
œ
œn
œ

œm
œ

œ œm œn œ
œ
œn œm œ

œm
œ

œn
œ
œm œn

œ œn œm œ
œ
œ œm œ œm

6
6

arco

Œ

˙

Ê

Œ

Áο

œm œ

‰

Ι

œ

Ê

˙

Ê

Áο

pizz.
arco

gliss.

%

15

‰

ι

œm œ

œb
œ
œ
œ
œn œb

œ
œ
œ
œ œn œ

œn
3 5 6

sul tasto, flautando

π

sul G

senza vib.

Œ

−˙

Ê

Áο

sul pont.
œ

+

,
≥

−˙m
Ê

≥

Áο

Áο

‰

ι

œ
˙

‰

ι

œ

sul tasto, flautando
sul G

π

‰

−
œ

Œ

œ

©Ursula Erhart-Schwertmann

2. Ewiges Eis
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